e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

= [and JEEP
CHEROKEE 2nd Gen, XJ 1984-2001
JE-12101 JE-11104
Tie Rod End Ball Joint
Front Front Lower
52005739 83500202
JE-111045 JE-11105
Ball Joint Ball Joint
Front Front Upper
83500202 8983500202
JE-11205 JE-14210
Ball Joint Stabilizer Link
Front Lower Front
52037849
JE-12111  JE-12112
Tie Rod End Tie Rod End
Front Right Outer Front Left
(Type:3.7iV6) M14x1,5 (Type:3.7iV6) M14x1,5
K52125483AA K52125484AA
JE-12131 JE-12132
Tie Rod End Tie Rod End
Front Right Outer Front Left Outer
M16X1,5 M16X1,5
52128520AA 52128521AA
JE-11134 JE-16138
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly
Front Right Lower

5110437Al
52088636AD
JE-16139 JE-14137
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower L=149mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

CHEROKEE

JEEP
KJ 2001-2008
|
JE-16136
Suspension Control Arm and Ball Joint
Assembly
Front Upper
68068615AB
KK 2008-2013
JE-12132 JE-14130
Tie Rod End Stabilizer Link
Front Left Outer Front
M16X1.5  52125205AC
52128521AA
DO-16109 DO-16108
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Upper
52125113AE

Front Right Upper
52125112AE

JE-11344
Ball Joint
Front Lower

52109987AH

KL

2013 after

JE-13323

Axial Joint
Front

68224935AB

KL

2014 after

JE-12321
Tie Rod End
Front Right
K68224936AA

JE-12322
Tie Rod End
Front Left
K68224937AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

5

info@parsrot.com



Rot sy

== Land JEEP
CHEROKEE 2014 after
JE-14320 JE-14326
N Stabilizer Link Stabilizer Link
N Front Rear Right
68224732AC 68224850AE
JE-14327 JE-16345
Stabilizer Link Ball Joint
Rear Left Front Lower
68224850AE 4877827AF*
XK
JE-12121 JE-12122
Tie Rod End Tie Rod End
Front Right Front Left
5143556AC 5143555AC
JE-11125 JE-16127
Ball Joint Suspension Control Arm and Ball Joint

Front Upper

Assembly
Front Upper

Front Left Lower

52090206AF
52090206Al
JE-16129 JE-16128
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

52089981A 52089980A
JE-14120 JE-14126
Stabilizer Link Stabilizer Link
Rear Front
52089486AE 52089467AB
JE-11124 JE-201064
Ball Joint Control Arm Bushing

Front Lower

5135651AE

Front Lower Outer
52089981A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 6 info@parsrot.com



—
sy L and

COMMANDER XK

JEEP

2005-2010

JE-201063

Control Arm Bushing

Front Lower Inner

JE-201062

Control Arm Bushing

Front Lower Center

52089981A 52089981A
MK49
DO-201035 JE-16319
Control Arm Bushing Suspension Control Arm and Ball Joint
Assembly
Front Outer
Front Left
5105041AH
5105041AH
JE-16318 JE-11314
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Right
5105041AC
5105040AH
JE-13303 CR-12111
Axial Joint Tie Rod End
Front Front
M14X1,5-L=298mm M14x1,5
68040224AA 5183761AD
JE-14306 JE-14307
Stabilizer Link Stabilizer Link
Rear Front
L=80mm L=265mm
5174245AD 5174185AC
JE-14310
Stabilizer Link
Front
5151803AA
GRAND CHEROKEE 3rd Gen 2011 after
DO-20437 DO-14137
Control Arm Bushing Stabilizer Link
Front Lower Center Rear
5168159AA PerformancePackage
68091853AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land JEEP
GRAND CHEROKEE 3rd Gen 2011 after
DO-14136 DO-14135
Stabilizer Link Stabilizer Link
Rear Front Left
standarttype standarttype
68069682AA 68069655AB
DO-14134 DO-14127
Stabilizer Link Stabilizer Link
Front Right Front Left
standarttype 68091837AA
68069654AB
DO-14126 DO-16128
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front Right _
sportsuspension Front Right Upper
DO-11124 DO-12122
Ball Joint Tie Rod End
Front Upper Front Left
68217809AA 68069647AB
DO-12121 DO-16138
Tie Rod End Suspension Control Arm
Front Right Front Right Lower
68069646AB 68022600AD
DO-16129 DO-16139
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Left Lower
Front Left Upper
68022601AD
68217809AA
DO-13123 DO-19297
Axial Joint Lateral Arm
Front Rear Upper Rear
68105872AB 52124830AD

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

Front Right Lower Outer

Front Lower

5168158AA 68069648AB
DO-20918 DO-20866
Control Arm Bushing Control Arm Bushing
Front Inner Rear
1643303507 52124840AB
HWJ, WG
JE-19337 JE-12141
Lateral Arm Tie Rod End
Rear Lower Front Right
2013- M12X1,5
52088520 52088870AA
JE-12142 JE-12331
Tie Rod End Tie Rod End
Front Left Front Right
M12X15 52088461
52088869AA
JE-12332 JE-11154
Tie Rod End Ball Joint
Front Left Front Upper
52088511 68004085AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

== Land JEEP
|
GRAND CHEROKEE 3rd Gen 2011 after
DO-19287 DO-19286
Lateral Arm Lateral Arm
Rear Left Lower Rear Right Lower
52124821AC 52124820AC
DO-19120 DO-201021
Lateral Arm Control Arm Bushing
Rear Front Left Lower Outer
52124840AB 5168159AA
DO-201020 DO-16125
Control Arm Bushing Ball Joint

parsrot.com

9

info@parsrot.com



Rot sy

= Land JEEP
]
GRAND CHEROKEE Il WJ, WG 1999-2005

JE-11155 JE-11334
Ball Joint Ball Joint
Front Lower Rear Upper
5012432AA 52088808AB

JE-16186 JE-14146

Suspension Control Arm Stabilizer Link
Front Upper Front
52088208AC 52088283

JE-14147
Stabilizer Link
Rear

52088319AB

GRAND CHEROKEE Il WH/WK 2005-2010

JE-13123 JE-14126
Axial Joint Stabilizer Link
Front Front

68066486AA 52089467AB

JE-14120 JE-16128

Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Rear
Front Right Lower
52089486AE

52089980A

JE-16129 JE-16127

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Front Upper
52089981A 52090206Al

JE-11125 JE-12122
Ball Joint Tie Rod End
Front Upper Front Left
52090206AF 5143555AC

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



Rot sy

Control Arm Bushing
Front Lower Inner

52089981A

Control Arm Bushing
Front Lower Outer

52089981A

== Land JEEP
________________________________________________________________________________________________________________________________________|
GRAND CHEROKEE lll WH/WK 2005-2010
JE-12121 JE-201062
Tie Rod End Control Arm Bushing
Front Right Front Lower Center
5143556AC 52089981A
JE-201063 JE-201064

JE-11124
Ball Joint
Front Lower

5135651AE

GRAND CHEROKEE 1ZJ 1991-1999

JE-14210 JE-11105
Stabilizer Link Ball Joint
Front Front Upper
52037849 8983500202

JE-111045 JE-11104
Ball Joint Ball Joint
Front Front Lower

83500202 83500202

JE-12101 JE-14106
Tie Rod End Stabilizer Link
Front Front

52005739 52088437

KJ

JE-12131 JE-12132
Tie Rod End Tie Rod End

Front Right Outer Front Left Outer
M16X1,5 M16X1,5

52128520AA 52128521AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11 info@parsrot.com




Rot sy

= Land JEEP
LIBERTY 2001-2008
. |

JE-11134 JE-16139

P Ball Joint

Front Lower

Suspension Control Arm and Ball Joint P
Assembly

Front Left Lower

5110437Al
52088637AD
JE-16138 JE-14137
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Right Lower L=149mm
52088636AD 52088662AB
JE-16136
Suspension Control Arm and Ball Joint
Assembly
Front Upper
68068615AB
KK 2008-2014
DO-12102 DO-12101
Tie Rod End Tie Rod End
Front Left Front Right
M16X1,5 M16X1,5
52125367AA 52125366AA
JE-11344 DO-16108
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly
Front Right Upper

52109987AH
52125112AE
DO-16109 DO-14106
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Rear
Front Left Upper L=180mm
52125113AE 68029024AA

PATRIOT 2007-2015

JE-11314
Ball Joint
Front Lower

5105041AC

JE-16318

Suspension Control Arm and Ball Joint
Assembly

Front Right
5105040AH

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

JEEP

PATRIOT

2007-2015

JE-16319

o Suspension Control Arm and Ball Joint
3 Assembly

Front Left
5105041AH

DO-201035

Control Arm Bushing =
Front Outer

5105041AH

JE-14310
Stabilizer Link
Front
5151803AA

WRANGLER I 1991-1996

JE-11154
Ball Joint
Front Upper

JE-11155
Ball Joint

Front Lower

Front Upper

68004085AA 5012432AA
JK
JE-11154 JE-12171
Ball Joint Tie Rod End

Front Left Outer

68004085AA 52060053AE
JE-12172 JE-14176
Tie Rod End Stabilizer Link
Front Outer Front
52060049AE 52059975AC
JE-14177 JE-11155
Stabilizer Link Ball Joint

Stabilizer Link

Rear Front Lower
52060011AB 5012432AA
TJ 1996-2007
|
JE-14166

Front
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

52087771AB

info@parsrot.com



A
&Ilana' JEEP

WRANGLER TJ 1996-2007

JE-11155 JE-11154
—_— Ball Joint Ball Joint
Front Lower Front Upper
5012432AA 68004085AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 14 info@parsrot.com






